

$$\int \frac{1}{x^2 + a^2} dx = \frac{1}{a} \tan^{-1} \left(\frac{x}{a} \right)$$

$$\int \frac{1}{\sqrt{a^2 - x^2}} dx = \frac{1}{a} \sin^{-1} \left(\frac{x}{a} \right)$$

$$\int \sec x dx = ?$$

$$\int \tan x dx = \int \frac{\sin x}{\cos x} dx = \ln |\cos x|$$

$$\int \sinh x dx = \cosh x$$

$$\int \cosh x dx = \sinh x$$

$$\int \cos x dx = \sin x$$

$$\int \sec^2 x dx = \tan x$$

$$\sec x \tan x = \sec x$$

$$(\sec x)' = \left(\frac{1}{\cos x} \right)' = \frac{\sin x}{\cos^2 x} = \frac{\sin x}{\cos x} \times \frac{1}{\cos x}$$

$$\int e^x dx = e^x$$

$$\int \frac{x}{b} dx = \frac{x^2}{2b} \ln b$$

$$\int \sin x dx = -\cos x$$

$$\int x^n dx = \frac{x^{n+1}}{n+1}$$

$$\int \frac{1}{x} dx = \ln |x|$$

$\int x \sin x dx = uv - \int v du$
 $= \sin x \cdot \frac{x^2}{2} - \int \frac{x^2}{2} \cos x dx$

روش تون برایش جز جز می تونم
 Integration by parts

$\int u dv = uv - \int v du$
 $= x(-\cos x) - \int (-\cos x) dx$
 $= -x \cos x + \sin x + C \checkmark$

$\int u dv = uv - \int v du$
 $\int x \sin x dx$
 $u = x$
 $dv = \sin x dx$
 $du = dx$
 $v = -\cos x$

$\int u dv = uv - \int v du$

$\frac{d(uv)}{dx} = u \frac{dv}{dx} + v \frac{du}{dx}$
 $d(uv) = u dv + v du$
 $u dv = d(uv) - v du$

$\int \frac{1}{\cos x} dx = \int \frac{1}{u} du = \ln |u| + C$

روشهای انتگرالگیری

$$\int \frac{\arctan x \, dx}{u} \quad \frac{d}{dx}$$

$$= x \tan^{-1} x - \int \frac{x \cdot \frac{1}{1+x^2}}{dx}$$

$$= x \tan^{-1} x - \frac{\int (1+x^2)^{-1/2} dx}{2} + C$$

Diagram: A circle with radius x and a smaller circle with radius a inside it. The area between them is shaded and labeled dx .

$$\int \frac{x^2}{u} \frac{d}{dx} = \int \frac{x^2}{e^x} dx$$

$$= x^2 e^{-x} - \int 2x e^{-x} dx$$

$$= x^2 e^{-x} - 2(x-1)e^{-x}$$

$$\int \frac{x^2 e^x dx}{u} \quad \frac{d}{dx} \quad v = e^x$$

$$= x^2 e^x - \int 2x e^x dx = x^2 e^x - 2(x-1)e^x$$

$$d(uv) = u dv + v du$$

$$\int u dv = uv - \int v du$$

$$\int u dv = uv - \int v du =$$

$$\int \ln x dx = x \ln x - \int \frac{x \cdot \frac{1}{x} dx}{x} = x \ln x - x = x(\ln x - 1)$$

روش های انتگرال گیری

$$\int \frac{\ln x dx}{u} \quad \frac{d}{dx}$$

$$v = x$$

Page 1 of 1

$$\int \sin^3 x \, dx =$$

$$\int \sin^2 x \sin x \, dx = \begin{cases} (1 - \cos^2 x) \sin x \, dx \\ u = \cos x \\ du = -\sin x \end{cases}$$

$$= \int (1 - u^2) (-du) = \int (u^2 - 1) du = \frac{u^3}{3} - u = \frac{\cos^3 x}{3} - \cos x$$

$$= -\cos x \sin^2 x + \int (-\cos^3 x + \cos x) \, dx$$

$$= -\cos x \sin^2 x - \int \cos^3 x \, dx + \int \cos x \, dx$$

$$= -\cos x \sin^2 x - 2 \cos x + \frac{2}{3} \cos^3 x + \sin x + C$$

$$\int \sin^3 x \, dx = \int \underbrace{\sin^2 x}_{u^2} \underbrace{\sin x \, dx}_{-du}$$

$$= \int \sin^2 x (-\cos x) \, dx = -\int \cos x \sin^2 x \, dx$$

$$= -\cos x \sin^2 x + \int 2 \cos x \sin x \, dx$$

$$\int \sin x \, dx = -\cos x + C$$

$$\int \sin^2 x \, dx = \int \frac{1 - \cos(2x)}{2} \, dx = \frac{1}{2} x - \frac{1}{4} \sin(2x) + C$$

$$\frac{1 + \cos(2x)}{2} = \cos^2 x$$

$$\int \frac{x}{1+x^2} \, dx = \int \frac{du}{u} = \ln|u| + C = \frac{1}{2} \ln|x^2+1| + C$$

$$= \frac{1}{2} \ln|x^2+1| + C$$

$$\int x e^{\sin x} dx = -\cos x e^{\sin x} + \int e^{\sin x} dx$$

$$\int x e^{\sin x} dx = \frac{e^{\sin x}}{2} (\sin - \cos)$$

(مطلوبه)

$$\int x e^{\sin x} dx = e^{\sin x} (-\cos x) + \int (\cos x) e^{\sin x} dx$$

$$= e^{\sin x} (-\cos x) + \int x e^{\sin x} dx$$

$$\int \sin^2 x \cos x dx = \int (\sin \cos x)^2 dx$$

$$= \int \left(\frac{\sin 2x}{2} \right)^2 dx = \dots$$

$$\int \sin^4 x dx = ?$$

$$\int \sin^3 x dx = \left(\sin^2 x \cos x \right) - \int \cos x \cos^2 x dx$$

$$= -\sin^2 x \cos x - \int 3 \sin^2 x \cos x dx$$

$$\int \sin^n x dx = -\frac{1}{n} \cos x \sin^{n-1} x + \frac{n-1}{n} \int \sin^{n-2} x dx$$

$\int \sin^2 x \, dx$

$\int \sin^2 x \, dx = \int \frac{1 - \cos(2x)}{2} \, dx$

$= \frac{1}{2} \int (1 - \cos(2x)) \, dx$

$= \frac{1}{2} \left(x - \frac{\sin(2x)}{2} \right) + C$

$\int \sin^2 x \, dx = \int \frac{1 - \cos(2x)}{2} \, dx$

$= \frac{1}{2} \int (1 - \cos(2x)) \, dx$

$= \frac{1}{2} \left(x - \frac{\sin(2x)}{2} \right) + C$

$\int \sin^2 x \, dx = \int \frac{1 - \cos(2x)}{2} \, dx$

$= \frac{1}{2} \int (1 - \cos(2x)) \, dx$

$= \frac{1}{2} \left(x - \frac{\sin(2x)}{2} \right) + C$

$\int \sin^3 x \, dx = \int \sin^2 x \sin x \, dx$

$= \int (1 - \cos^2 x) \sin x \, dx$

$= \int (1 - u^2) (-du)$

$= -\int (1 - u^2) \, du$

$= -\left(u - \frac{u^3}{3} \right) + C$

$= -\left(\sin x - \frac{\sin^3 x}{3} \right) + C$

$\int \cos^3 x \, dx = \int \cos^2 x \cos x \, dx$

$= \int (1 - \sin^2 x) \cos x \, dx$

$= \int (1 - u^2) \, du$

$= \left(u - \frac{u^3}{3} \right) + C$

$= \left(\sin x - \frac{\sin^3 x}{3} \right) + C$

$$= \int (\tan^2)^2 \sec^6 \sec^2 dx$$

$$= \int (\sec^2 - 1)^2 \sec^6 (\sec^2) dx$$

$$= \int (u^2 - 1) u^6 du = \dots$$

$$\left. \begin{aligned} \textcircled{5} \textcircled{7} \\ \tan^5 \sec^6 dx &= \\ \tan^5 \sec^4 \sec^2 dx &= \\ \tan^4 (\sec^2) \times \underbrace{\tan \sec^2 dx}_{\sec^2 dx} &= \end{aligned} \right\}$$

$$= \int (\tan^2)^3 (1 + \tan^2) \sec^2 dx$$

$$= \int (u^2)^3 (1 + u^2) du$$

$$\left. \begin{aligned} \textcircled{4} \textcircled{4} \\ \tan^4 \sec^4 dx &= \\ \tan^2 \times \sec^2 \times \sec^2 dx &= \\ (\tan^2)^3 \times (\sec^2) \times \sec^2 dx &= \end{aligned} \right\}$$

$$= \int (1 - \cos^2)^2 \cos^2 \sin dx$$

$$u = \cos x$$

$$= \int u^2 (1 - u^2)^2 du = \dots$$

بداية
انتر

$$\left. \begin{aligned} \textcircled{5} \textcircled{2} \\ \sin^5 \cos^2 dx &= \\ \sin^4 \cos^2 \sin dx &= \\ (\sin^2)^2 \cos^2 \sin dx &= \end{aligned} \right\}$$

$$2 \int \sec^3 x \, dx = \sec x \tan x + \int \sec x \, dx$$

$$\int \sec x \, dx = ?$$

$$= (\sec x) \tan x - \int (\tan x) \sec x \, dx$$

$$= \sec x \tan x - \int \tan^2 x \sec x \, dx$$

$$= \sec x \tan x - \int (\sec^2 x - 1) \sec x \, dx$$

$$\Rightarrow \sec x \tan x - \int \sec^3 x \, dx + \int \sec x \, dx$$

$$\int \sec^2 x \, dx = \tan x$$

$$\int \sec^3 x \, dx = \frac{(\sec x)(\sec^2 x) \, dx}{u} = \frac{\tan^2 x}{2} + \int (-1 \sec) + C$$

$$\int \frac{\tan^2 \sec^2 x \, dx}{u} = \int \tan^2 x \, dx$$

$$= \frac{\tan^2 x}{2} + \int (-1 \sec) + C$$

$$\int \tan^3 x \, dx = \int (\tan^2 x) \tan x \, dx$$

$$= \int (\sec^2 x - 1) \tan x \, dx = \int \sec^2 x \tan x \, dx - \int \tan x \, dx$$